
<latexit sha1_base64="kF/uhSt/u1no+Fo1EgDGLDNPs9Q="></latexit>

<latexit sha1_base64="we2eHMBXR9IySB5L7XhEP6hNFPY="></latexit>



<latexit sha1_base64="6ok29jZLLtfa+znHrei+NnZ5UFw="></latexit>

<latexit sha1_base64="RhK/RUkMFNxgOlB4455NR5resBc="></latexit>



<latexit sha1_base64="6ok29jZLLtfa+znHrei+NnZ5UFw="></latexit>

<latexit sha1_base64="RhK/RUkMFNxgOlB4455NR5resBc="></latexit>

<latexit sha1_base64="PAFjDbo38rDap1FsthFSh5J4p5Q="></latexit>



<latexit sha1_base64="6ok29jZLLtfa+znHrei+NnZ5UFw="></latexit>

<latexit sha1_base64="jHucPGQXcwL9oTBQ8t1A4PRA/ac="></latexit>

<latexit sha1_base64="gI8NukpURhmLFbXKaZkBm8DolZc="></latexit>



<latexit sha1_base64="6ok29jZLLtfa+znHrei+NnZ5UFw="></latexit>

<latexit sha1_base64="jHucPGQXcwL9oTBQ8t1A4PRA/ac="></latexit>

<latexit sha1_base64="gI8NukpURhmLFbXKaZkBm8DolZc="></latexit>

<latexit sha1_base64="RCvrvz5OCF/l2G2nQGVLRZf0om4="> </latexit>



<latexit sha1_base64="OPW0N+xG9wCdwyzJuj5HzPKLUJ4="></latexit>

<latexit sha1_base64="BHTTEhIKhwgUVsgXmAQhHR2mouU="></latexit>



<latexit sha1_base64="xPGaOE/dBQI42EN5Us+JI++5QN0="></latexit>



<latexit sha1_base64="xPGaOE/dBQI42EN5Us+JI++5QN0="></latexit>

<latexit sha1_base64="nNGmhiA9x9V/pfaESinfLDyD3v4="></latexit>



<latexit sha1_base64="xPGaOE/dBQI42EN5Us+JI++5QN0="></latexit>

<latexit sha1_base64="OtjwyibRpuC3YEPKH2K9jfEZZbo="></latexit>



<latexit sha1_base64="rC6+/R4EjNnBN0ATtFSd4Yl/U9U="></latexit>



<latexit sha1_base64="/bU57+Ftov4bwnhRqHqeqJhwzZc="></latexit>

<latexit sha1_base64="6bjNoch4KTTTuiQIboW4NbfXl0E="></latexit>



<latexit sha1_base64="/bU57+Ftov4bwnhRqHqeqJhwzZc="></latexit>

<latexit sha1_base64="6bjNoch4KTTTuiQIboW4NbfXl0E="></latexit>

<latexit sha1_base64="GECBQIQFX/39ThB2rsH8WxjoQrA="></latexit>



<latexit sha1_base64="T6Xd4MuTUaQbaDDfVmYkrOnX8bU="></latexit>



<latexit sha1_base64="T6Xd4MuTUaQbaDDfVmYkrOnX8bU="></latexit>

<latexit sha1_base64="X9kDHLK1zkeW9f57/h/ewB0CqbA="></latexit>



<latexit sha1_base64="2FMjpAzyAK3y8zDWr0HUp3nlZbY="></latexit>

<latexit sha1_base64="jcI1KXeEBWjt5EO36jCE1tiW6+U="></latexit>



<latexit sha1_base64="2FMjpAzyAK3y8zDWr0HUp3nlZbY="></latexit>

<latexit sha1_base64="jcI1KXeEBWjt5EO36jCE1tiW6+U="></latexit>

<latexit sha1_base64="vIe4OPZHqFwqUmpBU9TFJBDdbM8="></latexit>



<latexit sha1_base64="6C8IFp9Gx5IApe/jK6qilaI/lzs="></latexit>



<latexit sha1_base64="6C8IFp9Gx5IApe/jK6qilaI/lzs="></latexit>

<latexit sha1_base64="zUlLRgs99TF/dIENsyRdJ3c7ams="></latexit>



<latexit sha1_base64="dVonqRv2AWypR0OSJ+Kgr/XjcEg="></latexit>



<latexit sha1_base64="VlwG/b0n8Vuq+uw+pXel4m0Ybbs="></latexit>



<latexit sha1_base64="MPlS6VuGxatkYIlSfxdUaJLgNbA="></latexit>



<latexit sha1_base64="MPlS6VuGxatkYIlSfxdUaJLgNbA="></latexit>

<latexit sha1_base64="vMl/4f8e1kplpG3cSQoovbEFEU8="></latexit>

<latexit sha1_base64="vWYCUI3GxlvlNKthIAiqOsJ3RkQ="></latexit>



<latexit sha1_base64="MPlS6VuGxatkYIlSfxdUaJLgNbA="></latexit>

<latexit sha1_base64="vMl/4f8e1kplpG3cSQoovbEFEU8="></latexit>

<latexit sha1_base64="vWYCUI3GxlvlNKthIAiqOsJ3RkQ="></latexit>

<latexit sha1_base64="v7sfd6ELnZq1nZJzGqRiz0BYN7k="></latexit>



<latexit sha1_base64="i5YsLyX7JEwolcWTXDrAbS4cwWQ="></latexit>



<latexit sha1_base64="i5YsLyX7JEwolcWTXDrAbS4cwWQ="></latexit>

<latexit sha1_base64="1HGvPShLfoWpocni1+Gu/jGIoCk="></latexit>



<latexit sha1_base64="i5YsLyX7JEwolcWTXDrAbS4cwWQ="></latexit>

<latexit sha1_base64="1HGvPShLfoWpocni1+Gu/jGIoCk="></latexit>

<latexit sha1_base64="sG2VhiGVKpd+ZzZUj6Z1fmMbZXI="></latexit>



Define H̃ = SHKD [x̄0 � D̄\{x̄0}]. Let � : K̄ � H̃ again with K̄ transitive.
Let � =df crit(�) Then:

(4) (i) K̄ � � = KD � � ; (ii) � = x̄0; (iii) Kq+1 =� KD =� K̄.
<latexit sha1_base64="/+leztLBZcwi3+B7mMH5qjUXX4I="></latexit><latexit sha1_base64="/+leztLBZcwi3+B7mMH5qjUXX4I="></latexit><latexit sha1_base64="/+leztLBZcwi3+B7mMH5qjUXX4I="></latexit><latexit sha1_base64="/+leztLBZcwi3+B7mMH5qjUXX4I="></latexit>



Define H̃ = SHKD [x̄0 � D̄\{x̄0}]. Let � : K̄ � H̃ again with K̄ transitive.
Let � =df crit(�) Then:

(4) (i) K̄ � � = KD � � ; (ii) � = x̄0; (iii) Kq+1 =� KD =� K̄.
<latexit sha1_base64="/+leztLBZcwi3+B7mMH5qjUXX4I="></latexit><latexit sha1_base64="/+leztLBZcwi3+B7mMH5qjUXX4I="></latexit><latexit sha1_base64="/+leztLBZcwi3+B7mMH5qjUXX4I="></latexit><latexit sha1_base64="/+leztLBZcwi3+B7mMH5qjUXX4I="></latexit>

(5) K |=“ x̄0 is a regular cardinal”.
Proof: By (4)(ii).

<latexit sha1_base64="ffvF62W035hNAdQWZPoIbBdt28U="></latexit><latexit sha1_base64="ffvF62W035hNAdQWZPoIbBdt28U="></latexit><latexit sha1_base64="ffvF62W035hNAdQWZPoIbBdt28U="></latexit><latexit sha1_base64="ffvF62W035hNAdQWZPoIbBdt28U="></latexit>

(6) x̄0 is a KD-singular.
Proof: �D(x̄0) = x0 � X and has, by (1), V-cofinality �k, whilst at the same
time the closed Dn is unbounded below it, where n is such that
x0 � (�n�1, �n); hence x0 � Dn and has oK(x0) < �k. By Cox’s extension of
the Covering Lemma we must have x0 a K-singular. Hence (6) follows by
elementarity. (6)

<latexit sha1_base64="G/a0F5z1E5ATId3Bm/JG9XDrCTk="></latexit><latexit sha1_base64="G/a0F5z1E5ATId3Bm/JG9XDrCTk="></latexit><latexit sha1_base64="G/a0F5z1E5ATId3Bm/JG9XDrCTk="></latexit><latexit sha1_base64="G/a0F5z1E5ATId3Bm/JG9XDrCTk="></latexit>



But that would imply in K̄ that crit(E) is strong up to the K-inaccessible x̄0.

• Hence in K by elementarity we have oK(�D � �(crit(E�)) � �q.
<latexit sha1_base64="tEy9SZGrtiS7K0mxgrn7cjoop0w="></latexit><latexit sha1_base64="tEy9SZGrtiS7K0mxgrn7cjoop0w="></latexit><latexit sha1_base64="tEy9SZGrtiS7K0mxgrn7cjoop0w="></latexit><latexit sha1_base64="tEy9SZGrtiS7K0mxgrn7cjoop0w="></latexit>

But q � Q and so there is no such extender E�. Hence the conjunction of
(4), (5) and (6) is a contradiction, and our supposition that there was such a
sequence of sets �Dm�m�Q was false. (i)

<latexit sha1_base64="5ipZGhznLl9H4dwnzFe8PBC7cxo="></latexit><latexit sha1_base64="5ipZGhznLl9H4dwnzFe8PBC7cxo="></latexit><latexit sha1_base64="5ipZGhznLl9H4dwnzFe8PBC7cxo="></latexit><latexit sha1_base64="5ipZGhznLl9H4dwnzFe8PBC7cxo="></latexit>

<latexit sha1_base64="flMx60qs6q1bL5JzJs0lIfyeab4="></latexit>






